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10.

. @) Write the equation for Step 3 in the following reaction mechanism.

Step 1 2NO — N0, :
Step2 | N;0;+Hy — N;O + H;0 |
Step3 |N,0 + Vo9 N, W0
Overall Reaction | 2NO + 2H, — N + 2H,0 |

b) Identify a reaction intermediate in the above mechanism. |

v Y N O
N, O, Ty
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1. Using the axes below, sketch a PE diagram for the reacting system where: -
AH = -30 k) /mol !
E, = 350k]/mol .
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12.  Consider the following solutions at 25 °C
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Saturated AgClgq) KS\a = L.GLVD

Using calculations, identify the solution with the greater [Ag']. You will need to
look up Ksp for each salt.
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Supply the missing quantum numbers and sublevel names:
n / my Name
- { 0 4p
2 1 0. -
3 2 2 24°
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14. List all the Le Chatelier “stressors” that could be applied to this equilibrium reaction, which
would cause an increase in the concentration of water vapor.
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15. Identify the conjugate acid base pairs in the following reactions.
HOC1 + NH3 = NH," + ClO°
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16. Draw the Lewis dot diagram for the following and identify the molecular geometry.
a) BeF, b) BCl ¢) CCl, d) PBrs e SI
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